
SET TYPE MARKS QUESTION CO PI Bloom's Level Accessible For ANSWER-ONE ANSWER-ONE-
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ANSWER-TWO ANSWER-

TWO-STATUS

ANSWER-THREE ANSWER-

THREE-

STATUS

ANSWER-FOUR ANSWER-

FOUR-

STATUS

A SINGLE-CORRECT 1 Investments is the CO1 understand My Institute net additions made 

to the nations 

capital stocks

Incorrect person's 

commitment to buy 

a flat or a house

Incorrect employment of funds 

on assets to earn 

returns

Correct employment of funds 

on goods and services 

that are used in 

production process

Incorrect

A MULTIPLE-CORRECT 1 The stock is CO2 understand My Institute small units of equal 

value called shares

Correct expressed in terms 

of money

Correct expressed in terms of 

number of shares

Correct  fully paid up and 

partly paid up shares

Correct

A SINGLE-CORRECT 1 The open ended schemes are CO2 understand My Institute open for a 

particular period

Incorrect have fixed period of 

maturity

Incorrect listed in the stock 

exchanges

Incorrect open on a continuous 

basis

Correct

A MULTIPLE-CORRECT 1 speculation is for CO2 understand My Institute short run Correct highly risky Correct illegal Incorrect not allowed in India Incorrect

A SINGLE-CORRECT 1  Settlement cycle in India is CO1 understand My Institute T+1 Correct T+2 Incorrect T+3 Incorrect T+4 Incorrect

A SINGLE-CORRECT 1 Full form of NYSE is CO1 understand My Institute new york stock 

exchange

Correct national young stock 

exchange

Incorrect new york security 

exchange

Incorrect new york security 

entity

Incorrect

A MULTIPLE-CORRECT 1 Primary market consists of CO1 understand My Institute IPO Correct Private Placement Correct Right issue Correct Bonus Issue Incorrect

A SINGLE-CORRECT 1 software used by NSE is CO1 understand My Institute ODIEN Incorrect BOLT Incorrect NEAT Correct SYNEX Incorrect

A SINGLE-CORRECT 1 A growth industry is defined as CO1 understand My Institute An industry with 

15% rate of growth 

per annum

Incorrect An industry where 

demand for its 

product is growing

Incorrect An industry with high 

capital investment

Incorrect An industry with the 

average growth higher 

than the growth of 

economy

correct

A MULTIPLE-CORRECT 1 types of mutual funds are CO2 understand My Institute open and close 

ended

Correct sectoral and 

diversified

Correct cash and derivative Incorrect debt and equity correct

A SINGLE-CORRECT 1 badla system was abolished by CO1 understand My Institute RBI Incorrect SEBI Correct IRDA Incorrect AMFI Incorrect

A SINGLE-CORRECT 1 ASBA is a facility to block the funds in 

bank account

CO2 understand My Institute yes Correct no Incorrect can't say Incorrect

A SINGLE-CORRECT 1 grey market term is associated with CO2 understand My Institute IPO Correct derivatives Incorrect commodity Incorrect gold Incorrect

A MULTIPLE-CORRECT 1 different types of insurance products 

are

CO1 understand My Institute life Correct non life Correct marine Correct travel Correct

A SINGLE-CORRECT 1 REITS invest in CO1 understand My Institute residential 

property

Incorrect commercial property Correct both Incorrect none Incorrect

A SINGLE-CORRECT 1 options are right to buy or sell securities 

by the option buyer

CO1 understand My Institute TRUE Correct FALSE Incorrect none Incorrect

A MULTIPLE-CORRECT 1 portfolio is made for CO2 understand My Institute diversification Correct risk reduction Correct using different 

securities

Correct a better approach for 

investment

Correct

A MULTIPLE-CORRECT 1 parties involved in IPO are CO1 understand My Institute lead manager Correct banker Correct underwriter Correct registrar Correct

A SINGLE-CORRECT 1 cutoff price is identified in the process of CO1 understand My Institute book building Correct trading Incorrect speculation Incorrect gambling Incorrect

A SINGLE-CORRECT 1 Fixed deposits mobilised by finance 

companies are regulated by:

CO2 understand My Institute RBI Correct Company Law Board Incorrect SEBI Incorrect Registrar of Companies Incorrect

A SINGLE-CORRECT 1 Nifty is a CO2 understand My Institute Value weighted 

index

Correct Equal weighed index Incorrect Price weighted index Incorrect Hybrid index Incorrect

A SINGLE-CORRECT 1 Preferential allotment of shares in India 

is given mainly to:

CO2 understand My Institute Promoters or 

friendly investors

Correct Employees Incorrect Preference share 

holders

Incorrect Reserved categories Incorrect

A SINGLE-CORRECT 1 While matching orders for equity 

trading in NSE, which one of the 

following gets precedence over all the 

others?

CO2 understand My Institute Time of the order Incorrect Price of the order Correct Size of the order Incorrect  Both b and c Incorrect

A SINGLE-CORRECT 1 Free float represents: CO2 understand My Institute Promoters' non-

strategic 

shareholding

Incorrect Non-promoter non-

strategic 

shareholding

Correct Shareholdings by non- 

FIs and non-FIIs

Incorrect Non-government 

shareholdings

Incorrect
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A SINGLE-CORRECT 1 Spot the odd member in the following 

group:

CO2 understand My Institute PDAI Incorrect FIMMDA Incorrect AMFI Incorrect TRAI Correct

A SINGLE-CORRECT 1 Treasury Bills form part of CO2 understand My Institute Money market 

Instrument 

Correct Capital Instrument Incorrect Equity Market Incorrect Bond Market Incorrect

A SINGLE-CORRECT 1 Bond is a type of CO2 understand My Institute Money market 

Instrument 

Incorrect Capital Markets 

Instrument 

Correct Hybrid Instrument   Incorrect None of the above Incorrect

A MULTIPLE-CORRECT 1 Mutual Fund is an example of  CO2 understand My Institute Money and 

Primary market 

Instrument

Incorrect Capital and Primary 

Market Instrument

Correct Capital and Secondary 

Markets  Instrument 

Correct Money and Primary 

market Instrument

Incorrect

A SINGLE-CORRECT 1 Which one of the following is the most 

illiquid?

CO1 understand My Institute Shares Incorrect Bonds Incorrect  Public Provident Fund Correct  Bank fixed deposit Incorrect

A SINGLE-CORRECT 1 Which one of the following is the most 

tax efficient insrtrument?

CO1 understand My Institute Equity Shares held 

for more than one 

year

Correct  Bonds held for more 

than than 3 years

Incorrect Real Estate Invesment Incorrect Bank fixed deposit Incorrect

A SINGLE-CORRECT 1 Which one of the following is the most 

tax efficient insrtrument?

CO1 understand My Institute Equity Shares held 

for less than one 

year

Incorrect Mutual Fund Incorrect Public Provident Fund Correct Bank fixed deposit Incorrect

A SINGLE-CORRECT 1 Which one of the following is the most 

risky insrtrument?

CO1 understand My Institute Equity Shares of 

Large Cap 

companies

Incorrect Equity Shares of Mid 

Cap companies

Incorrect Equity Shares of small 

Cap companies

Correct Multi Cap Mutual Fund Incorrect

A SINGLE-CORRECT 1 Which one of the following is the most 

risky insrtrument?

CO1 understand My Institute Buying Equity 

Shares with the 

option of holding it 

for One year or less

Correct Buying Equity Shares 

with the option of 

holding it for 5 years 

or less

Incorrect Buying Equity Shares 

with the option of 

holding it for 10 year or 

less

Incorrect Buying Equity Shares 

with the option of 

holding it for 20 year or 

less

Incorrect

A SINGLE-CORRECT 1 Which one of the following instrument 

provides highest Current Yield?

CO1 understand My Institute Equity Shares Incorrect  Bank Deposit Correct Gold Incorrect Bitcoin Incorrect

A SINGLE-CORRECT 1 Which one of the following instrument 

provides highest capital Gain?

CO1 understand My Institute Equity Shares Correct Bank Deposit Incorrect Gold Incorrect Bond Incorrect

A SINGLE-CORRECT 1 Which one of the following cannot be 

negative?

CO1 understand My Institute Current return Correct Capital return Incorrect Total return Incorrect all above option Incorrect

A SINGLE-CORRECT 1 In general, investors are: CO2 understand My Institute Risk-neutral Incorrect  Risk-loving Correct Risk-averse Incorrect None of the above Incorrect

A SINGLE-CORRECT 1 Which of the following is true? CO2 understand My Institute Prima facie if the 

PEG ratio exceeds 

1, the stock is 

deemed 

undervalued.

Incorrect Prima facie if the 

PEG ratio equals 1, 

the stock is deemed 

overvalued.

Incorrect Prima facie if the PEG 

ratio is less than 1, the 

stock is deemed over-

valued.

Incorrect Prima facie if the PEG 

ratio exceeds 1, the 

stock is deemed 

overvalued.

Correct

A SINGLE-CORRECT 1 A market participant has a time horizon 

of one year . He is typically:

CO2 understand My Institute A trader Incorrect An investor Correct A speculator Incorrect A gambler Incorrect

A MULTIPLE-CORRECT 1 Riskier stocks have CO2 understand My Institute Higher P/E multiple Incorrect Lower P/E multiple Correct Higher variance Correct Lower variance Incorrect


